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Chem 1124 Practice Exam 3. ,ZCy/"

(1)(4 points) Classify the following as a solution, suspension, or a colloid
A
(a) Kool Aid™  Splufm

(b) toothpaste ¢ o]lo.d

-

(c) vegetable stew 5';7 5fcﬂ %) o~

(d) ltalian Dressing 5‘.45/W§,,,/\

(2) (4 points) What is a supersaturated solution? How can it exist?

j’fﬂ p glmﬁi« wih e solute Hm can %5450»?/0!155;)/&./\

\ ( 5 reatnally « preciptie will Grm,
P/Qc,;(‘[/‘f\-/m;l,)‘;;\ \{ S‘M’rlﬂ/ﬁ V@f/] J/MJ F\/fﬂ na o) d/’ Y L,

(3) (4 points) A cup of saturated sugar water at 25 °C is removed and heated to 75 °C.
Is the solution still saturated? Explain why or why not. .
F hhn

No must sohols dre pure sohtle @
Hmperitire. bhon tle fenp s s, 14 ol mcleass,
Ss te f)/wLﬂ;'v lomm Pl S et 75°C,

(4) (4 points) Why are strong acids strong electrolytes while weak acids are weak
electrolytes?

HE +ho 2 o'+~ L, s
1 Wis lege (stooy acid ) m U frne A+ amos
(WVIﬂLk/y, T+ 6{/?5 glu/yc/ ﬂ/‘ﬂilzg @W/ﬂl "y
Tl i sl) (weeacd ) vely e W,m/‘ﬁc'(es an borteod
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(5) (4 points) A 1.00 L solution contains 175 g of NaCl. fwf 5 f LHI %

(a) What IS the concen L"L?tlon in molarity?

199 s Mo

b
/f_,u”{& - 29
v
(b) What is the concentration in mM/? e
34T x PR I M2 T 50 mate,
) 10"

LT@maka - )GG) M

i, ot/ -
(c) What is the concentration in miv %?

/75 o = |75/
TR

(6) (4 points) Why is it bad for cells to be immersed in solutions that are either

hypotonic or hypertonlc?

Tf 4 solntin 4 /Iyﬁz ?Jf)c Wu w///fuﬁz; :/775 J/Z(
Gl snd F com bt TEH, soluter o /»/frf;mq

L,/;?Ltf 1(0\,)5 it a6+ CZ// 5/)/:}’@—//"7 i

(7) (4 points) Define the following:
f‘
(a) Brosted-Lowry Acid: </} H Mr

(b) Bronsted-Lowry Base:  am /% 4eceple”
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(8) (4 points) What is the pH of the following solutions:

(a) 0.100 M HCI

e (0/00} 2|0

(b) 0.100 NaOH [otﬁl @ﬁ]g /\ooX/o“W g -l %(/‘ww",j/ :@

/(/L/uo) E@ 71 )\wm"”’}
[)éﬂ‘j ; /,udxnfg

(9) (4 points) How does a buffer resist changes in pH?

A btler is ;@(m‘%‘f‘ sba el aod ard [t conjugaR b, e

Lo gt s HA Froects pih to weal s of Ve

bvl/'ktf‘ d\ngﬂ’lﬁ {//\L }'ffqé 44), 44‘17%/ Wd/kﬂ 5{0‘,7
d&/ —6r‘ “ WC?L (1’(/;/'

(10) (4 points) Label the following amino acids as nonpolar, basic, or acidic (ignore the
chemdoodle logo and address).

/ TSRS
[ O OH
QC/j 55(0/
H2(|3
H,C O
|l
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(11) (4 points) What is the difference between primary, secondary, tertiary, and
quaternary structure of proteins?

/V ql’!’mw 4[}() SW*(} al{#( @%@;/)é/u%;%

2 bl ond B pletd Sas
3% the 3 Shope ok pAE
B s musbbiple pren s wberacl o o <y caben
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(12) (4 points) What do enzymes do and how do they do it? What are two different
models of enzyme action and how do they differ?

/IZ(/// ﬂéée/le/j(( C[W /Wtf/{‘d//‘“() ‘01/ /;V//'“/ ( "“”/"’”t(
Fort that g chowpry Vi SaptS.
ZL?Z/!ZP/A&?/LL%[MM,., ~ A ENZypme {F et
Py /oaLoLW /ey
Thdned €4 - Srbdlte ot en 2y e chuge shpe sne
o{wmé #o éw[m/

(13) (4 points) What are some factors that affect enzyme action?

/7éﬁ f%%}aﬂﬁﬁ%ﬁ’(,</ /LG%? ,rg7é[}

~ (14) (4 points) How do changes in pH affect enzymes? Why?
724 5'/;49 Clw,fq; on A 3'72/,4\15 Can b comit profondss or
éé//dfw Wi (%/6/. ey Con Hon atded Hy
3 dSﬁad’“@
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